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ECONOMICS
{ General ]
PAPER -1
..Full Marks : 90
Time : 3 hours
The figures in the right hand margin indicat.? marks

Candidates are required to give their answers in their
own words as far as practicable

Illustrate the answers wherever necessary
: |

Answer quesfions of both halves in single seript

FIRST HALF

{ Micre Economics )
[ Marks : 45 ]
GROUP - A

{ Tvrn Over )



(2)

1. Answer any five questions : 2x5
(@) What is production function 7 1
(b) What do you mean by normal profit ? 2
(c) What is budget line ? 2
(d) What do you mean by Oligopoly Market? 2
(e) Whatis real wage rate ? 2
() Define Microeconomics. 2

(g) What do you understand by substitution
effect ? 2

(h) What do you understand by monopolistically
competitive market ? 2

GROUP —-B

Axswer any three questions : 5x3

2. With the help of a diagram explain circular flow
of income and expenditure. 5
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Briefly discuss the factors on which elasticity
of demand for a commodity depends. -~ 5

Define price effect and income effect. What do
you mean by substitution effect ? - 3+2

What do you mean by change in demandﬁ and
change in quantity demanded ? . 5

Discuss in brief the concepts of average cost,

" average variable cost and average fixed cost. 3

Write features of monopoly market. 5
GROUP - C

Answer any two questions : ‘ 10 % 2

Distinguish between retums to a factori and
returns to scale. Discuss the law of variabie
proportion. 4+6

Explain with.diagram, short run and long run
cquilibrium of a firm in a perfectly compet?tive
market. - 6+4
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10. Explain the concept of economic rent. Explain

1.

how the element of rent exist in earnings of

every factors of production. 6+4
Discuss producer's equilibriam with the help of
isoquant. 10
SECOND HALF
( Indian Economics-1)
[ Marks : 45 ]
GROUP - A
Answer any five questions : 2x5
{a) Whatdo youmean by 'Theory of Demographic
Transition' ? 2

(5) Mention two advantages and disadvantages of
agricultural mechanisation in India. 2

{c} What were the objectives of land reform
inIndia ?

b

{d) What are the sources of non-institutional
rural credit in India 7

b
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(e) What do you mean by New Agriculfural
Strategy' ? | 2

(f) Givethe full forms of BIFR and SIDBL. 2

(g) Mention two arguments in favour of public
sector enterprises in India. 2

(k) Give two reasons for industrial disputes
in India. 2

GROUP —-B
Answer any three questions : . 5x3

2. Discuss the problems of estimation of National
Income in India. 5

3. What are the basic characteristics of the Indian
economy ? §

4. Write a short note on 'Vicious Circle of Poverty’. 5

5. Mention the reasons behind the siow progress
of the land reform programmes in India. 5
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il.

(6)

What are the problems faced by the small scale
and cottage industry in India ? _ 5

Do you think that occupational structure in
Indian economy has changed in required direction
during plan period ? Give arguments in favour of
your opinion. 3

GROUP - C
Answer any two guestions ; 10x2

Briefly state the trends in India’s National Income
during the Plan pericd. 10

Discuss the effect of population growth on
economic development with reference to India.
Briefly discuss the India's National Population
Policy 2000. 6+4

What is poverty line ? Discuss the poverty
alleviation programme adopted by the government
of India. 2+8

Discuss the characteristics of industrial policy
of goverument of indis .- 1961, 16
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